Multiplication et Division par 0,001 (I)

Trouvez chaque produit ou quotient.

6,79 X 0,001 = 47 + 0,001 =
2,75 x 0,001 = 4,7789 x 0,001 =
1,34 x 0,001 = 3+0,001=

3,89 - 0,001 = 2,14 x 0,001 =
1,9 X 0,001 = 2,3807 = 0,001 =
8,76 +~ 0,001 = 8,355 x 0,001 =
1,488 + 0,001 = 4,07 = 0,001 =
3,7098 x 0,001 = 8,7+ 0,001 =

9,4 +0,001= 3,58 X 0,001 =
8,846 x 0,001 = 4,823 X 0,001 =
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Multiplication et Division par 0,001 (I) Solutions

Trouvez chaque produit ou quotient.

6,79 x 0,001 = 0,00679 4,7+ 0,001 =4700

2,75 % 0,001 =0,00275 4,7789 x 0,001 = 0,0047789
1,34 x 0,001 =0,00134 3-+0,001=3000

3,89+ 0,001 =3890 2,14 x 0,001 =0,00214

1,9 x 0,001 =0,0019 2,3807 = 0,001 =2 380,7
8,76 + 0,001 =8 760 8,355 x 0,001 = 0,008355
1,488 +- 0,001 =1 488 4,07 = 0,001 =4 070

3,7098 x 0,001 = 0,0037098 8,7+ 0,001 =8700

9,4 +0,001=9400 3,58 x 0,001 =0,00358
8,846 X 0,001 = 0,008846 4,823 x 0,001 = 0,004823
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